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1| HEn DKL A 11 4 29 3 8 0 0 11 4 2 6 280 1,039 0 0 1,318 14 55 69 1,388
2|7 27UNT IR 1 0 1 1 0 0 0 1 0 0 0 280 0 0 0 280 0 0 0 280
47 7V IVEE KR OV DKM 0 2 3 0 0 0 0 0 2 0 2 0 0 0 0 0 15 0 15 15
5|7 ZUNR2— (PAF LTI )) =F )L 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T 2INVER I~ —TF ) 1 1 1 1 0 0 0 1 1 0 1 280 0 0 0 280 130 0 130 410
8|7 7N EEAT L 2 1 2 2 0 0 0 2 1 0 1 4,061 0 0 0 4,061 19 0 19 4,080
IS WRYIZN 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
13|7Eh=FIL 3 6 7 3 0 0 0 3 6 0 6 440 0 0 0 440] 25,230 0| 25,230 25,670
4|7 b o7 e 1 0 1 1 0 0 0 1 0 0 0 5 0 0 0 5 0 0 0 5
15| 777 0 2 3 0 0 0 0 0 2 0 2 0 0 0 0 0 2,820 0 2,820 2,820
16]2, 2" =7V E AL/ T Fu= )L 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1,700 0 1,700 1,700
20(2—7 /=8 /)—n 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
287U T La— 1 1 1 1 0 0 0 1 1 0 1 2 0 0 0 2 180 0 180 182
T F LR OZEDILEY 1 4 5 0 1 0 0 1 4 0 4 0 40 0 0 40 1,832 0 1,832 1,872
2|7 ot 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
33|k 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 of 17,700 0| 17,700 17,700
0|8, 4 — AT T T T =L . . . ]
[ e 272 /— 1 0 2 1 0 0 0 1 0 0 0 3 0 0 0 3 0 0 0 3
O—x=F)NN=0—4—=pa7 =)L =
48| 7 == )VIR AR ) F AT —h (B4 EP 4 0 24 0 4 0 0 4 0 0 0 0 9 0 0 9 0 0 0 9
N)
53| F B 112 17| 130] 112 0 0 o] 112 17 0 17| 345,681 0 0 0| 345,681 29,259 0| 29,259 374,940
56| = FL L AF IR 2 0 2 2 0 0 0 2 0 0 0 28 0 0 0 28 0 0 0 28
65| /mmeRy 1 1 1 1 0 0 0 1 1 0 1 7 0 0 0 7 1,400 0 1,400 1,407
71 HEAES 8k 0 1 7 0 0 0 0 0 1 0 1 0 0 0 0 0 1 0 1 1
75| ARV LR ZEDLE 2 1 25 1 2 0 0 3 1 0 1 30 40 0 0 70 1 0 1 71
80[F 1 198 19 202 198 0 0 o] 198 19 0 19] 700,139 0 0 0| 700,139] 58,036 0| 58,036 758,175
81| /U 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
82 [$R K N DKL A 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
83| A 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
86|71 — 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
87|/e LR O =M a M a 4 3 31 1 3 0 0 4 2 2 4 16 2 0 0 18 591 2 593 611
88| Azt 4 3 31 0 4 0 0 4 3 0 3 0 4 0 0 4 3,220 0 3,220 3,224
104 g;”’wmﬁf&/(’u"%HCFC* 1 0 2 1 0 0 0 1 0 0 0 11 0 0 0 11 0 0 0 11
2—/nun—4, 6—EA(=FNLTI))
113|—1, 3, 5—NT7Yr HBilss~Tr 1 0 24 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
XIZCAT)
127| 7m0k 1 4 4 1 0 0 0 1 4 0 4 7,500 0 0 0 7,500 69,702 0| 69,702 77,202
128|7ma Az (B4 AL AT L) 1 0 1 1 0 0 0 1 0 0 ol 24,000 0 0 0| 24,000 0 0 0 24,000
132|a2 VR O DAL G 2 1 2 1 2 0 0 3 1 0 1 1 20 0 0 21| 28,000 0| 28,000 28,021
134|FEfEE =1 1 1 1 1 0 0 0 1 1 0 1 190 0 0 0 190 320 0 320 510
> N AN g NS N 7o
144 E?@zj{t“%(tﬂm&U/T/@‘ 5 1 25 0 5 0 0 5 1 0 1 0 46 0 0 46 2,000 0 2,000 2,046
N, N—=Vx=F L F A NI EES
147| —4—rma_u UL (B4 T4 3 0 24 0 3 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0
NT NI F AT —T)
149| U {l ik 3 1 0 24 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
150 % 3 0 24 0 3 0 0 3 0 0 0 0 1 0 0 1 0 0 0 1
157 : 1 0 24 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
158 5%1‘/) vraaxFs (ke = 2 ol 24 0 2 0 0 2 0 0 0 0 1 0 0 1 0 0 0 1
159|2A—1, 2—Y/mpzFL o 2 0 24 0 2 0 0 2 0 0 0 0 1 0 0 1 0 0 0 1
3,3 =V rmn—4, 4 -7 P . .
160\ " T 1 1 1 1 0 0 0 1 1 0 1 10 0 0 0 10 29 0 29 39
3—(3,4—Y/mnr==/)—1, 1
169| — Y AF VIR (B4 v me XEDC 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
MU)
1791, 3—Y7mrra~r (B4 D—D) 1 0 24 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
4— (2, 4=y A L) —1,
183|3— P AF L —5—E TV UL =4—} 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 2,600 0 2,600 2,600
T2V BIAET L —]R)
vraa~l a7 v Aarasy (B4
185\ CpC— 905) 1 0 1 1 0 0 0 1 0 0 0 1,300 0 0 0 1,300 0 0 0 1,300
186> 7mm Ay (B4 AT L V) 6 5 32 5 1 0 0 6 5 0 5| 13,537 0 0 o] 13,537 31,590 0| 31,590 45,127
190| Vv oy o 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
204|207 z= L —F L 0 2 3 0 0 0 0 0 2 0 2 0 0 0 0 0 1,910 0 1,910 1,910
213|N, N— Y AF LT &hTIR 1 1 2 1 0 0 0 1 1 0 1 20 0 0 0 20 310 0 310 330




AR JEHPeH & - BB (B2 )

" P - " N . = ; 2% [TET- 2o |
x4 LT () BEHIFE2C (FF) BBIPEE () BB (eg/ 4535 1 g TR ) [P (TR AR (PR
N ~ 5 PN
e WA pees | mw | e | oxa [B50] b [ e [ an [een] mice] anr | xw [P o | e | oo [ wew [ o [ e |07550°
218[VAF LTI 1 1 1 1 0 0 0 1 1 0 1 24 0 0 0 24 12,000 0| 12,000 12,024
226[1, 1—VAFILERTD 1 0 1 1 0 0 0 1 0 0 0 6 0 0 0 6 0 0 0 6
232N, N— P AF LRV LT IR 2 3 4 2 0 0 0 2 3 0 3 1,113 0 0 0 1,113 26,910 0| 26,910 28,023
234| R 1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
237 KER K O F DAL 1 0 24 1 0 0 0 1 0 0 0 17 0 0 0 17 0 0 0 17
239| HHAX(LE W 1 0 1 1 0 0 0 1 0 0 0 15 0 0 0 15 0 0 0 15
240|2F L 1 1 4 1 0 0 0 1 1 0 1 11,000 0 0 0| 11,000 5,000 0 5,000 16,000
242| LY R OEDILAEY 3 0 24 1 3 0 0 4 0 0 0 80 601 0 0 681 0 0 0 681
23| FAAFU 43 26 53 31 15 0 1 47 24 3 27 490 15 0 1 506 19,898 0| 19,898 20,404
245|F AR F 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
246|F AT =/ — )L 1 0 1 1 0 0 0 1 0 0 0 12 0 0 0 12 0 0 0 12
1, 3,5, 7—7 TN ral[3.
258|3. 1. 1(3, 7) 17 I (Bl ~FH A 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FLrThII)
262|757 F7/mnTFL 4 0 27 3 1 0 0 4 0 0 ol 13,100 0 0 o] 13,100 0 0 0 13,100
2657 hFER AT VKT 2L 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
TRIAFNFITLY AT 4R (B4
268|200, ) g 135 0 1 0 24 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
272\ S KA (BEHE A BRS, ) 5 2 28 1 4 0 0 5 1 1 2 19 4 0 0 23 1,400 4 1,404 1,427
21N =F LTI 1 1 1 1 0 0 0 1 1 0 1 3 0 0 0 3 2,100 0 2,100 2,103
279|1, 1, 1—hK)7apxi 3 0 24 0 3 0 0 3 0 0 0 0 2 0 0 2 0 0 0 2
280[1, 1, 2—K)rmr=g 1 0 24 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
281N yur=FL 1 0 24 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
288 II¥7HE7/I/ﬂ‘H;<5/(ﬁIJ42.LFL 1 1 0 1 1 0 0 0 1 0 0 0 7 0 0 0 7 0 0 0 7
296(1, 2, 4—RYAF LB 159 4 164|159 0 0 o] 159 4 0 4 5,859 0 0 0 5,859 210 0 210 6,069
297|1, 3, 5— RIAF LB 49 3 92 49 0 0 0 49 3 0 3 1,089 0 0 0 1,089 374 0 374 1,463
300[F Ly 221 40 223 221 1 0 o] 222 40 0 40| 1,938,417 7 0 0] 1,938,425 508,017 0| 508,017 2,446,442
3027z 0 2 3 0 0 0 0 0 2 0 2 0 0 0 0 o] 10,400 0| 10,400 10,400
304 |1 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 500 0 500 500
305|¢nb & 6 3 29 3 3 0 0 6 3 2 5 87 1 0 0 88 830 4 834 922
308|=v 41 0 1 3 0 0 0 0 0 1 0 1 0 0 0 0 0 51 0 51 51
309|=v LA 3 2 4 2 3 0 0 5 2 1 3 13 1,118 0 0 1,131] 160,003 120 160,123 161,255
318| ik 1 0 1 1 0 0 0 1 0 0 o] 120,000 0 0 0| 120,000 0 0 0 120,000
320 /= 7=)— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 910 0 910 910
2L (AN FOTIMEED 2 1 2 2 1 0 0 3 1 0 1 33 69 0 0 102] 38,000 0| 38,000 38,102
332t % O F DR LS 4 0 24 1 4 0 0 5 0 0 0 120 621 0 0 741 0 0 0 741
333[eRTVv 1 0 2 1 0 0 0 1 0 0 0 11 0 0 0 11 0 0 0 11
334|4—ERuX % B HFERHRATF L 1 3 3 1 0 0 0 1 3 0 3 70 0 0 0 70 345 0 345 415
3407 z=1 0 2 3 0 0 0 0 0 2 0 2 0 0 0 0 0 473 0 473 473
342|eyv 3 4 5 3 0 0 0 3 4 0 4 8 0 0 0 8 8,500 0 8,500 8,508
349|7=/—n 1 0 1 1 0 0 0 1 0 0 0 5 0 0 0 5 0 0 0 5
374| S Al/KFE M O DIKEEPERE 16 0 24 0 16 0 0 16 0 0 0 0 31,657 0 0 31,657 0 0 0 31,657
39|2—Furr—1—F— 1 0 1 1 0 0 0 1 0 0 0 17 0 0 0 17 0 0 0 17
392[ L= —~FH 152 4| 154 152 0 0 o] 152 4 0 4] 75,005 0 0 0| 75,005 65,421 0| 65,421 140,426
395~ A% RO KEATER 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
400| =B 153 4| 179] 152 1 0 o] 153 4 0 4| 17,287 0 0 o] 17,287 2,373 0 2,373 19,661
405|1ZH>H#HLAED 17 3 29 0 17 0 0 17 3 1 4 0 5,429 0 0 5,429 1,114 680 1,794 7,223
406|RVH{bE 7 ==/ (34 PCB) 0 0 24 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
411| RV LTATER 1 0 1 1 0 0 0 1 0 0 0 2,800 0 0 0 2,800 0 0 0 2,800
112|~r H R OZDLE 14 9 34 5 9 0 0 14 9 0 9 1,822 941 0 0 2,763 50,263 0| 50,263 53,026
415 AZ 7Y V1 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 0 251 0 251 251
420 AZ 2V VERATF IV 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
436| 7N T 7 —AFNAFL 1 1 1 1 0 0 0 1 1 0 1 4 0 0 0 4 29 0 29 33
438\ AF ST XL 30 2 34 30 0 0 0 30 2 0 2 3,445 0 0 0 3,445 3,720 0 3,720 7,165
AFLLE A4, 1—Tz=Ly) =04
480, 25 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
153| BV T F L R OZDEN 1 2 4 1 1 0 0 2 2 0 2 8 1,200 0 0 1,208 8,117 0 8,117 9,325
Gt 1,292 214| 2,115] 1,175 129 0 1 1,305] 210 12| 222] 3,289,313| 42,855 0 0] 3,332,168 1,185,920 864 1,186,784 4,518,952




